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1. Which one is he solutionof y' +y=x’—-2

(A) y=ce" +x'=2x (B) y=acosx+bsinx QC) y=¢e'+ ax’ +hx+e
(D) y=e"(acosx+bsinx) (E)None

2. Which one is the solutionof y™ =¢*

(A) y=ce " +x°-2x (B) y=acosx+bsinx (C) y=e’ +ax’ +bhxtc
(D) y=e"{acosx+ bsinx) (L) None.
3. Which one in the following differential equations is the nonhomogeneous equation?
(A) (I —x")y"—ny‘ +6y=0 (B) y'—y=0 (C) y" +4y=e"sinx
{p)] .\‘(y"y -l-y") +2y'vy =0 (L) None
4. Which one in the following dilferential equations is nonlinear?

(A) (l—x")y"—ny‘+6y=() B) y"—-y=0 (Cy y"+4y=esinx
Dy x (y"y -+ y"’) +2p'y=0 (E)None

5. Which one is the solution of the initial value problem y* -y =0 with y(()) =4 and y'(0)=-27

(A) y=3x'-2x+4 (B) y=e +3 (C) y=2e" —sinx+2
(D) y=de”™ —2sinx+ 2x’  (E)None
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6. 1M matrices A and B arc defined as 4 =[ 5 0} and B= [2 ' 5 ], then the producl C= AL is

al? 2wl P e =15 2) [ 2 e
()-2 8 ()‘2’8()—21—8()2[ I8 {E) None
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7. 7.1 matrices A and B are delined as A =[ ], B =[ 5 ] and C= {[} , then the product

-2 0 2
c=-asc s {7 w2 o oy 0 @yNe
T =— b ne
8 8 6 6
. . ) . ) . —-40¢ 40
8. Which one is the eigen value solution pair of the matrix Az[ 16 ]2]?

(A (4 =24,=4) (B) (4, =-22,=-038) (C) (4, =-224,=-4) (D) (4 =24,=08) (I)None
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9. Consider A, B and C are nxn matrices, which one in the following malrix operations is wrong?

(A) (4CY =CTA" ) B(AB) =4 (O (ACY" = 47'C™" (D) in general, AB # BA (1) None

10, Lel v(x,y,x) = 3xzi + 2%y —yz"f(’ be a dilferentiable vector function, then the divergence of the

vector Vv is

(A) 3zi + 2xf - Zyzl? (B) 3zi + 2xj - yz"ff (C©) 3z+2x—yz' (D) 3z+2x-2yz (£)None
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11, The Buler's formutais (A) ¢ = Zix" {1} cos(x)= -(H—)— (C) ¢ =cos(x)+isin(x)

n=l) il n=0 (2")'

(D) y"+p{x)y'tq {(x}y=0 (L) None

12, Defermine the valuc of A so that the following equalion is “exact”

13. The Laplace Transform of the function y(r}=4¢sin2( s (A) T{s)=

14.

Ay* + ye” +(4ky+xe"’ +2y)y' =0
(A) A=2 (B) A=5 (C) A=11 (D) 4=i8 (L} None
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(B) ¥(s)= (D). )’(.v)=5—-}\.—z (II) None
5 -

‘The inverse Laplace Transform of the function ¥ (s)= -——57 is (A) y(t)=5 cos(7¢)

+7)

(B) p(N)=5te™ (C) p(r)=5sin(7r) (D) y(t)=5/sin(7t) (L) None
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15. The lLapace ransform of he initial value problem, ie. y™+y=1 y(0)=1y'(0)=0 »is

PRV ()= e ) PR SR
(A) )('g)ms‘-rl (B ¥(s) sz(é"d) (©)1ls) 82(6’2'*')1"}“
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(D) Y{s)= ?2( ! - (E) None

st +l) (.s'z -l)

16, The cross product FxG ol vectors F=7+2j- 3k and G=-2i+j+ 4k is

(A) 2P+ 11j+5k (B) 5i+11j+2k (C) 27 +5f+11k (D) 117 +27 +5k (1) None

17.  Three veclorsare F=7—j -k G=-3i +4] +6k and f1=-2i—4j+ 2k . The corresponding
product of ﬁ.(ﬁxé) is (A) 2 (B)5(C) It (D) 18 (E) None

18. ‘The lirst iwo Fourier coclficients of (ollowing equation are:

-4, . —x<x%0

4 O<x<nm

(A) [lg)(cosx+lcos3x+---] (BY4 (C) [—lﬁ][sinx+lsin3x+---)
s 3 w 3

(D) (l—()—)[sinx+lsin2x+---) {E) None
T 2

f(x)={

19. Thecurl VxF of the vector F = yi +2xzj + zek is

(A) ¢ (B) O (C) 2x7 ~ze"f+2k (D) ~2xi —ze"j +(22-1)k (L) None
20.  Which of following dilferential equations is a linear equation
(A) y"+dxy'=cosy (B) y+x'ysinx=3x (C) ysin(p)y 4y =2

(D) e XJI’ =3y () None




